UG/6th Sem(G)/22 (CBCS)

U. G. 6th Semester Examination 2022

Political Science (General)

Paper Code : PLSG-DSE-2-A & B
[CBCS]
Full Marks : 32 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

DSE - 2-A
Group-A
Answer any two questions from the following : 12x2=24
1. Ciritically examine the role of Planning Commission in shaping the development strategy in
India. 12
2. Discuss the liberalization policy adopted in India and its impact on unorganized Sector.
12
3. What do you understand by Green Revolution? Discuss its impact on rural economy in India.
4+8
4. Discuss the major issues raised by Dalit Movement in Contemporary India. 12
Group-B
5. Answer any two short questions from the following : 4x2=8
(a) Mixed Economy in India.
(b) Land Reforms in India.
(c) Privatization in Indian Economy.
(d) Women’s Movement in India.
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DSE-2(B)

Group-A
Answer any two essay type questions from the following :
Disccuss the meaning and significance of Public Policy in India.

Examine Policy analysis with reference to Marxist theory of state.

12x2=24

12

12

What is social movement? Discuss the role of social movement in policy formulation.

Define interest group. How do they influence policy formulation? Explain.

Group-B
Answer any two short questions from the following :
(a) Liberalization.
(b) Policy implementation.
(c) Political economy.

(d) Civil Society.
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